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Worksheet on Number System and Integers 
 

1. Which alphabet gives the integer −5 if H is +10? 

 

 

 

 

 

 

 

a. D 

b. F 

c. M 

d. O 

 

2. The temperature in the room was 6.45°C this midnight. After five hours, it was 8.19°C 

and then the temperature was −5.37°C after four hours. What was the temperature 

difference after five and nine hours? 

 

a. 2.82°C 

b. 3.56°C 

c. 13.56°C 

d. 13.65°C 

 

3. Which integer is 13 less than the integer marked on the number line? 

 

 

 

 

 

 

 

a. 8 

b. 18  

c. -8 

d. -18 

 

4. An eggplant farm grows 900 eggplants and another eggplant farm grows 1050 

eggplants in a day. How many eggplants were harvested in a week? 
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a. 10650 

b. 11650 

c. 12650 

d. 13650 

 

5. Which of the following number lines represent 7 less than −8? 

 

 

 

 

a.  

  

 

 

 

 

 

  

 

b.  

 

 

  

  

 

 

 

 

c.   

 

  

 

 

 

 

 

d.  
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Answer Key 
 

1. b - F 

 

Explanation: Alphabet F gives the integer −5 which is shown as 

 

 

 

 

 

 

 

 

 

 

2. c - 13.56°C 

 

Explanation: Temperature after five hours = 8.19°C 

Temperature after nine hours = −5.37°C 

Temperature difference after five and nine hours = 8.19°C – (−5.37°C) 

                                                                       = 8.19°C + 5.37°C 

                                                                        = 13.56°C 

 

3. c - -8 

 

Explanation: Integer marked on the number line = 5 

Integer which is 13 less than the integer marked on the number line = 5 − 13 

                                                                                                            = − 8 

 

4. d - 13650 

 

Explanation: Number of eggplants grown by one eggplant farm in a day = 900 eggplants 

Number of eggplants grown by another eggplant farm in a day = 1050 eggplants   

Total eggplants were harvested in a day = (900 + 1050) eggplants   

Total eggplants were harvested in a week = 7 × (900 + 1050)  

                                                                   = 7 × 900 + 7 × 1050  

[Using distributive property] 

                                                                   = 6300 + 7350 

                                                                   = 13650 eggplants 

 

 

 

 

5. b -   
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Explanation: 7 less than −8 = −8 − 7 = −15 

This number line shows −15. 

 

 

 

 

 

 

 

 

 

More Questions Coming Soon – Keep Learning! 

http://www.crestolympiads.com/
https://www.youtube.com/redirect?event=channel_description&redir_token=QUFFLUhqa2g5MlhLWFNlS24yNV9kZ3lYZGpfbFR6MW9Md3xBQ3Jtc0trVnAzUGExbmdPRHNHdUlmT0RFRDBTY3o3QzhmRThSeVBCajdfbU5qcnV1WFAtRTFsVUdUQlJHUElwU2xRS0VEVkhIUnZqQUVNZHl5d3BKT2M0NGZSZ2tIMjA5cy1YM1lzRmdEaG9RM3NNa0dQWjRwcw&q=https%3A%2F%2Fwww.facebook.com%2Fcrestolympiads


 

 

+91-98182-94134 @crestolympiads 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://www.youtube.com/redirect?event=channel_description&redir_token=QUFFLUhqa2g5MlhLWFNlS24yNV9kZ3lYZGpfbFR6MW9Md3xBQ3Jtc0trVnAzUGExbmdPRHNHdUlmT0RFRDBTY3o3QzhmRThSeVBCajdfbU5qcnV1WFAtRTFsVUdUQlJHUElwU2xRS0VEVkhIUnZqQUVNZHl5d3BKT2M0NGZSZ2tIMjA5cy1YM1lzRmdEaG9RM3NNa0dQWjRwcw&q=https%3A%2F%2Fwww.facebook.com%2Fcrestolympiads

